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Note :Deatradiction good method

to show sets are empty.

⑬ Contradiction also a good

way to show uniqueness
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Prof : Suppose not
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Set of counterexamples.

Let c C be the smallest
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element of C,

Note c + 0 bl c = 2 . 0

So > 0.
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So C-1 is odd or even

c- 1 odd + c- 1 = 2d+
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Remark Uses the
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Well-orderingPrinciple (wop)

( Every monempty schset CIN

has a leastplement

Mis is a special fact
about /N = natural :

It's not true for others
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enough to prove

Pane P(uo) true
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En The sum of the first

Addnatural numbers is m

r 1 = 12

n= 1+3 = 2

1 + 3 +5 = 32

1 + 3+ 5+ 2 + 9 + 11 = 6


